DHHLC

AMERY

30"BARSTOOL

LIVING SPACES SKU: 323498
HARDWARE LIST
No Description Sketch QTY
A | Allen Wrench 4mm — 1PC
B | Bolt @1/4x60mm Ommw | 8PCS
c | Lock Washer @1/4x12mm | <> 8PCS
D | Flat Washer @1/4x19mm @ 8PCS
E | Screw #4x38mm Eysms | 8PCS
PARTS LIST
SEAT FRAME (1PC)| RIGHT LEG (2PCS) | LEFT LEG (2PCS) STREf.gSSFI (1PC) STRET'-&';‘SR (1PC)

@

)

®

@

&

@

Page 1 of 2




DD

LIVING SPACES

Hardware
are here

AMERY

30”"BAR STOOL
SKU: 323498

* Tighten all screws & bolts

Page 2 of 2




